

$$\lim_{x \rightarrow -2} f(x) = \begin{cases} 2[2^+] + a[\frac{0}{0}] = 2 \\ 2[2^-] + a[\frac{0}{0}] = 4-a \end{cases} \Rightarrow 2-a=2 \Rightarrow a=2$$

$$\boxed{\left[\frac{a}{0}\right] = \left[\frac{2}{2}\right] = 0}$$

• جواب =

$$\lim_{x \rightarrow \frac{\pi}{2}^-} [2\sin x - 1] \Rightarrow \frac{1}{2} \Rightarrow x \rightarrow \frac{\pi}{2}^- \Rightarrow \sin x \Rightarrow \frac{1}{2}^-$$

$$\Rightarrow \lim_{x \rightarrow \frac{\pi}{2}^-} [2\sin x - 1] = [1^- - 1] = [0^-] = \boxed{-1}$$

جواب = -1

جواب = -1

$$\lim_{x \rightarrow -\frac{1}{2}} [12x^3 - x] = \left[ \left(12 \cdot \left(-\frac{1}{2}\right)^3\right) - \left(-\frac{1}{2}\right) \right] = \left[ -1 + \frac{1}{2} \right] = \left[ -\frac{1}{2} \right]$$

$$\boxed{= -1}$$

\* چون درون برآیند محصص نبود آسانه ای نشد \*

$$① x < -\frac{1}{2} \Rightarrow \frac{1}{x} > -2 \Rightarrow \frac{1}{x^2} < 4 \Rightarrow \frac{3}{x^2} < 12$$

$$② \frac{1}{x^2} < 4 \Rightarrow \frac{2}{x^2} > -1$$

$$\Rightarrow \lim_{x \rightarrow \frac{1}{2}^-} f(x) = \frac{1 \cdot x - \infty + 11}{14x - (-1)} = \frac{1 \cdot x + 9}{14x + 1} = \frac{-\infty + 9}{-\infty + 1} = \frac{1}{0^-}$$

$$\boxed{= -\infty} \quad \text{جواب} = -\infty$$

$$\lim_{x \rightarrow 1^+} \frac{\sin^2 nx}{[x] + \cos nx} = \lim_{x \rightarrow 1^+} \frac{\sin^2 nx}{1 + \cos nx} \stackrel{0}{=} \lim_{x \rightarrow 1^+} \frac{(1 - \cos nx)(1 + \cos nx)}{(1 + \cos nx)} = 1 - \cos nx$$

$$= \lim_{x \rightarrow 1^+} 1 - \cos nx = \boxed{2}$$

جواب = 2

$$\lim_{x \rightarrow -1} \frac{\sqrt{x+1} - \sqrt{x+1}}{1+\sqrt{x}} \Rightarrow \lim_{x \rightarrow -1} \frac{\sqrt{x+1} - \sqrt{x+1}}{1+\sqrt{x}} \times \frac{\sqrt{x+1} + \sqrt{x+1}}{\sqrt{x+1} + \sqrt{x+1}} = \lim_{x \rightarrow -1} \frac{-(x+1)\sqrt{x+1}}{(x+1)\sqrt{x+1}}$$

$$= \boxed{-\frac{1}{2}}$$

$$\boxed{-\frac{1}{2}} = \text{جواب}$$

$$\lim_{x \rightarrow 1} \frac{x - \sqrt{x} + 1}{x - \sqrt{x} + 1} \Rightarrow \lim_{x \rightarrow 1} \frac{x - \sqrt{x}}{x - \sqrt{x}} = \frac{1 - \frac{1}{2}}{1 - \frac{1}{2}} = \frac{\frac{1}{2}}{\frac{1}{2}} = \boxed{\frac{1}{2}}$$

$$\boxed{\frac{1}{2}} = \text{جواب}$$

$$\lim_{x \rightarrow 0} \frac{a + \sqrt{bx+c}}{x} \Rightarrow \frac{0}{0} \Rightarrow a + \sqrt{c} = 0 \Rightarrow \boxed{a = -\sqrt{c}}$$

$$\Rightarrow \lim_{x \rightarrow 0} \frac{b}{\sqrt{bx+c}} = \frac{1}{\sqrt{c}} \Rightarrow \frac{b}{\sqrt{c}} = \frac{1}{\sqrt{c}} \Rightarrow \boxed{b = \frac{c}{2}} \Rightarrow$$

$$\frac{ab}{c} = \frac{-\sqrt{c} \times \frac{\sqrt{c}}{2}}{c} = \frac{-\frac{c}{2}}{c} = \boxed{-\frac{1}{2}}$$

$$\boxed{-\frac{1}{2}} = \text{جواب}$$

$$\lim_{x \rightarrow -\infty} f(x) \xrightarrow{-\infty} \frac{f+k[-\infty]}{f+k[\infty]} = +\infty \Rightarrow f - 2k > 0 \Rightarrow 2k < f \Rightarrow k < \frac{f}{2}$$

$$\Rightarrow \frac{f}{2} < k < f \Rightarrow [-k] = \left[-\frac{f}{2} < k < -f\right] = \boxed{[-f]}$$

$$\boxed{-f} = \text{جواب}$$

$$\lim_{x \rightarrow \infty} \frac{b\sqrt{x+1} - 2b}{ax - b} \Rightarrow \frac{0}{0} \Rightarrow a - b = 0 \Rightarrow b = 1a \Rightarrow a = \frac{1}{2}b$$

$$\Rightarrow \lim_{x \rightarrow \infty} \frac{b \times (\frac{1}{2}x^{\frac{1}{2}}) (\frac{1}{\sqrt{x+1}})}{a} = \frac{b \times (\frac{1}{2}x^{\frac{1}{2}}) (\frac{1}{\sqrt{x+1}})}{\frac{1}{2}b} = \frac{\frac{1}{2} \times \frac{1}{2}}{\frac{1}{2}} = \frac{1}{2}$$

$$= \boxed{\frac{1}{2}}$$

$$\boxed{\frac{1}{2}} = \text{جواب}$$